7 Homework 5 (due Oct. 3)  Name: 5©L\j RILYNAS

Note that the homework is due on FRIDAY! The purpose of this homework is to explore
the how artificial variables expose redundancy in a system of equations, to practice using
the full simplex method, and to explore the concept of duality.

Reading: Sections 3 7,4.1, 4.2 and 4.3.

1. Problem set 3.7, question 2 (page 105).
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e part (b) (For this part, if you use LP Assistant then print out your tableau and
explain what part of the tableau exposes the redundancy).
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2. Problem set 3.7, question 3 (page 105). For both of these, if you use LP Assistant then
print out your tableau. In the space below present the required answers.
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3. Problem set 4.2, question 1 (page 130).

e part (a)
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4. Problem set 4.2, question 2, part (d) (page 131).
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5. Problem set 4.2, question 3 (page 131)
e part (a) , .
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e part (c) (If you use LP Assistant then print out your tableau. In the space below
present the required answers.)
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6. Problem set 4.3, question 3 (page 136)

e part (a)
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e part (c) (If you use LP Assistant then print out your tableau. In the space below
present the required answers.)
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7. Problem set 4.3, question 5 (page 138)
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